

Cleaning & Painting Steel Structures -Cider Hill Road Underpass Bridge - Mile 6.2 Captain Thomas Road Underpass Bridge - Mile 14.8 Route 126 Underpass Bridge - Mile 101.7 High Street Underpass Bridge - Mile 103.6

Company Name	Total Bid Amount
Southern Road & Bridge, LLC - Tarpon Springs, FL	\$1,516,500.00
Atlas Painting and Sheeting Corp - Amherst, NY	\$1,539,000.00
Panther Industrial Painting, LLC - Mishawaka, IN	\$1,743,900.00
Abhe & Svoboda, Inc Prior Lake, MN	\$1,942,670.00
Monoko, LLC Tarpon Springs, FL	\$2,155,400.00
Gemstone, L.L.C Key West, FL	\$2,168,800.00
Amstar of Western NY Inc - Cheektowaga, NY	\$2,285,000.00
PCI International Inc Tonawanda, NY	\$2,790,000.00



Bids Received For Contract

Cleaning & Painting Steel Structures -Cider Hill Road Underpass Bridge - Mile 6.2 Captain Thomas Road Underpass Bridge - Mile 14.8 Route 126 Underpass Bridge - Mile 101.7 High Street Underpass Bridge - Mile 103.6

02/15/2018 1:00:00 PM

Southern Road & Bridge, LLC Tarpon Springs, FL

Item No.	Item Description	UOM	Quantity	Unit Price	Item Bid Amount
506.141	Field Painting of Existing Structural Steel - Cider Hill Road Underpass	LS	1.00	200000.00	\$200,000.00
506.142	Field Painting of Existing Structural Steel - Captain Thomas Road Underpass	LS	1.00	100000.00	\$100,000.00
506.143	Field Painting of Existing Structural Steel - Route 126 Underpass	LS	1.00	100000.00	\$100,000.00
506.144	Field Painting of Existing Structural Steel - High Street Underpass	LS	1.00	78000.00	\$78,000.00
506.171	Surface Preparation of Existing Structural Steel - Cider Hill Road Underpass	LS	1.00	200000.00	\$200,000.00
506.172	Surface Preparation of Existing Structural Steel - Captain Thomas Road Underpass	LS	1.00	95000.00	\$95,000.00
506.173	Surface Preparation of Existing Structural Steel - Route 126 Underpass	LS	1.00	100000.00	\$100,000.00
506.174	Surface Preparation of Existing Structural Steel - High Street Underpass	LS	1.00	78000.00	\$78,000.00
506.181	Containment System and Pollution Control Measures - Cider Hill Road Underpass	LS	1.00	100000.00	\$100,000.00
506.182	Containment System and Pollution Control Measures - Captain Thomas Road Underpass	LS	1.00	50000.00	\$50,000.00
506.183	Containment System and Pollution Control Measures - Route 126 Underpass	LS	1.00	65000.00	\$65,000.00
506.184	Containment System and Pollution Control Measures - High Street Underpass	LS	1.00	35000.00	\$35,000.00
506.191	Disposal of Special Waste or Hazardous Waste - Cider Hill Road Underpass	LS	1.00	5000.00	\$5,000.00
506.192	Disposal of Special Waste or Hazardous Waste - Captain Thomas Road Underpass	LS	1.00	2500.00	\$2,500.00
506.193	Disposal of Special Waste or Hazardous Waste - Route 126 Underpass	LS	1.00	2500.00	\$2,500.00
506.194	Disposal of Special Waste or Hazardous Waste - High Street Underpass	LS	1.00	2000.00	\$2,000.00
526.306	Temporary Concrete Barrier, Type I - Supplied by Authority (600 LF)	LS	1.00	3000.00	\$3,000.00
527.341	Work Zone Crash Cushion - TL-3	Unit	4.00	200.00	\$800.00
619.1202	Temporary Mulch	LS	1.00	1500.00	\$1,500.00
629.05	Hand Labor, Straight Time	HR	40.00	80.00	\$3,200.00



Cleaning & Painting Steel Structures -Cider Hill Road Underpass Bridge - Mile 6.2 Captain Thomas Road Underpass Bridge - Mile 14.8 Route 126 Underpass Bridge - Mile 101.7 High Street Underpass Bridge - Mile 103.6

Item No.	Item Description	ИОМ	Quantity	Unit Price	Item Bid Amount
631.35	Foreman	HR	20.00	100.00	\$2,000.00
652.3611	Traffic Control Devices and Maintenance of Traffic Control Devices - Cider Hill Road Underpass	LS	1.00	20000.00	\$20,000.00
652.3612	Traffic Control Devices and Maintenance of Traffic Control Devices - Captain Thomas Road Underpass	LS	1.00	20000.00	\$20,000.00
652.3613	Traffic Control Devices and Maintenance of Traffic Control Devices - Route 126 Underpass	LS	1.00	20000.00	\$20,000.00
652.3614	Traffic Control Devices and Maintenance of Traffic Control Devices - High Street Underpass	LS	1.00	20000.00	\$20,000.00
652.41	Portable-Changable Message Sign	EA	2.00	500.00	\$1,000.00
652.45	Truck Mounted Attenuator	CD	180.00	200.00	\$36,000.00
652.451	Automated Trailer Mounted Speed Limit Sign	CD	180.00	75.00	\$13,500.00
652.46	Temporary Portable Rumble Strip	Unit	150.00	150.00	\$22,500.00
659.101	Mobilization	LS	1.00	140000.00	\$140,000.00
Total Bid	\$1,516,500.00				



Bids Received For Contract

Cleaning & Painting Steel Structures -Cider Hill Road Underpass Bridge - Mile 6.2 Captain Thomas Road Underpass Bridge - Mile 14.8 Route 126 Underpass Bridge - Mile 101.7 High Street Underpass Bridge - Mile 103.6

02/15/2018 1:00:00 PM

Atlas Painting and Sheeting Corp Amherst, NY

Item No.	Item Description	UOM	Quantity	Unit Price	Item Bid Amount
506.141	Field Painting of Existing Structural Steel - Cider Hill Road Underpass	LS	1.00	195000.00	\$195,000.00
506.142	Field Painting of Existing Structural Steel - Captain Thomas Road Underpass	LS	1.00	110000.00	\$110,000.00
506.143	Field Painting of Existing Structural Steel - Route 126 Underpass	LS	1.00	130000.00	\$130,000.00
506.144	Field Painting of Existing Structural Steel - High Street Underpass	LS	1.00	80000.00	\$80,000.00
506.171	Surface Preparation of Existing Structural Steel - Cider Hill Road Underpass	LS	1.00	80000.00	\$80,000.00
506.172	Surface Preparation of Existing Structural Steel - Captain Thomas Road Underpass	LS	1.00	50000.00	\$50,000.00
506.173	Surface Preparation of Existing Structural Steel - Route 126 Underpass	LS	1.00	50000.00	\$50,000.00
506.174	Surface Preparation of Existing Structural Steel - High Street Underpass	LS	1.00	40000.00	\$40,000.00
506.181	Containment System and Pollution Control Measures - Cider Hill Road Underpass	LS	1.00	195000.00	\$195,000.00
506.182	Containment System and Pollution Control Measures - Captain Thomas Road Underpass	LS	1.00	110000.00	\$110,000.00
506.183	Containment System and Pollution Control Measures - Route 126 Underpass	LS	1.00	130000.00	\$130,000.00
506.184	Containment System and Pollution Control Measures - High Street Underpass	LS	1.00	80000.00	\$80,000.00
506.191	Disposal of Special Waste or Hazardous Waste - Cider Hill Road Underpass	LS	1.00	10000.00	\$10,000.00
506.192	Disposal of Special Waste or Hazardous Waste - Captain Thomas Road Underpass	LS	1.00	5000.00	\$5,000.00
506.193	Disposal of Special Waste or Hazardous Waste - Route 126 Underpass	LS	1.00	5000.00	\$5,000.00
506.194	Disposal of Special Waste or Hazardous Waste - High Street Underpass	LS	1.00	5000.00	\$5,000.00
526.306	Temporary Concrete Barrier, Type I - Supplied by Authority (600 LF)	LS	1.00	24000.00	\$24,000.00
527.341	Work Zone Crash Cushion - TL-3	Unit	4.00	2000.00	\$8,000.00
619.1202	Temporary Mulch	LS	1.00	4000.00	\$4,000.00
629.05	Hand Labor, Straight Time	HR	40.00	40.00	\$1,600.00



Cleaning & Painting Steel Structures -Cider Hill Road Underpass Bridge - Mile 6.2 Captain Thomas Road Underpass Bridge - Mile 14.8 Route 126 Underpass Bridge - Mile 101.7 High Street Underpass Bridge - Mile 103.6

Item No.	Item Description	ИОМ	Quantity	Unit Price	Item Bid Amount
631.35	Foreman	HR	20.00	60.00	\$1,200.00
652.3611	Traffic Control Devices and Maintenance of Traffic Control Devices - Cider Hill Road Underpass	LS	1.00	5000.00	\$5,000.00
652.3612	Traffic Control Devices and Maintenance of Traffic Control Devices - Captain Thomas Road Underpass	LS	1.00	5000.00	\$5,000.00
652.3613	Traffic Control Devices and Maintenance of Traffic Control Devices - Route 126 Underpass	LS	1.00	5000.00	\$5,000.00
652.3614	Traffic Control Devices and Maintenance of Traffic Control Devices - High Street Underpass	LS	1.00	4500.00	\$4,500.00
652.41	Portable-Changable Message Sign	EA	2.00	1000.00	\$2,000.00
652.45	Truck Mounted Attenuator	CD	180.00	200.00	\$36,000.00
652.451	Automated Trailer Mounted Speed Limit Sign	CD	180.00	75.00	\$13,500.00
652.46	Temporary Portable Rumble Strip	Unit	150.00	150.00	\$22,500.00
659.101	Mobilization	LS	1.00	131700.00	\$131,700.00
Total Bid	\$1,539,000.00				



Bids Received For Contract

Cleaning & Painting Steel Structures -Cider Hill Road Underpass Bridge - Mile 6.2 Captain Thomas Road Underpass Bridge - Mile 14.8 Route 126 Underpass Bridge - Mile 101.7 High Street Underpass Bridge - Mile 103.6

02/15/2018 1:00:00 PM

Panther Industrial Painting, LLC Mishawaka, IN

Item No.	Item Description	UOM	Quantity	Unit Price	Item Bid Amount
506.141	Field Painting of Existing Structural Steel - Cider Hill Road Underpass	LS	1.00	85000.00	\$85,000.00
506.142	Field Painting of Existing Structural Steel - Captain Thomas Road Underpass	LS	1.00	55000.00	\$55,000.00
506.143	Field Painting of Existing Structural Steel - Route 126 Underpass	LS	1.00	60000.00	\$60,000.00
506.144	Field Painting of Existing Structural Steel - High Street Underpass	LS	1.00	40000.00	\$40,000.00
506.171	Surface Preparation of Existing Structural Steel - Cider Hill Road Underpass	LS	1.00	425000.00	\$425,000.00
506.172	Surface Preparation of Existing Structural Steel - Captain Thomas Road Underpass	LS	1.00	190000.00	\$190,000.00
506.173	Surface Preparation of Existing Structural Steel - Route 126 Underpass	LS	1.00	220000.00	\$220,000.00
506.174	Surface Preparation of Existing Structural Steel - High Street Underpass	LS	1.00	130000.00	\$130,000.00
506.181	Containment System and Pollution Control Measures - Cider Hill Road Underpass	LS	1.00	50000.00	\$50,000.00
506.182	Containment System and Pollution Control Measures - Captain Thomas Road Underpass	LS	1.00	40000.00	\$40,000.00
506.183	Containment System and Pollution Control Measures - Route 126 Underpass	LS	1.00	30000.00	\$30,000.00
506.184	Containment System and Pollution Control Measures - High Street Underpass	LS	1.00	30000.00	\$30,000.00
506.191	Disposal of Special Waste or Hazardous Waste - Cider Hill Road Underpass	LS	1.00	5000.00	\$5,000.00
506.192	Disposal of Special Waste or Hazardous Waste - Captain Thomas Road Underpass	LS	1.00	3000.00	\$3,000.00
506.193	Disposal of Special Waste or Hazardous Waste - Route 126 Underpass	LS	1.00	2000.00	\$2,000.00
506.194	Disposal of Special Waste or Hazardous Waste - High Street Underpass	LS	1.00	2000.00	\$2,000.00
526.306	Temporary Concrete Barrier, Type I - Supplied byAuthority(600 LF)	LS	1.00	1000.00	\$1,000.00
527.341	Work Zone Crash Cushion - TL-3	Unit	4.00	100.00	\$400.00
619.1202	Temporary Mulch	LS	1.00	100.00	\$100.00
629.05	Hand Labor, Straight Time	HR	40.00	20.00	\$800.00



Cleaning & Painting Steel Structures -Cider Hill Road Underpass Bridge - Mile 6.2 Captain Thomas Road Underpass Bridge - Mile 14.8 Route 126 Underpass Bridge - Mile 101.7 High Street Underpass Bridge - Mile 103.6

Item No.	Item Description	UOM	Quantity	Unit Price	Item Bid Amount
631.35	Foreman	HR	20.00	30.00	\$600.00
652.3611	Traffic Control Devices and Maintenance of Traffic Control Devices - Cider Hill Road Underpass	LS	1.00	60000.00	\$60,000.00
652.3612	Traffic Control Devices and Maintenance of Traffic Control Devices - Captain Thomas Road Underpass	LS	1.00	40000.00	\$40,000.00
652.3613	Traffic Control Devices and Maintenance of Traffic Control Devices - Route 126 Underpass	LS	1.00	40000.00	\$40,000.00
652.3614	Traffic Control Devices and Maintenance of Traffic Control Devices - High Street Underpass	LS	1.00	40000.00	\$40,000.00
652.41	Portable-Changable Message Sign	EA	2.00	1000.00	\$2,000.00
652.45	Truck Mounted Attenuator	CD	180.00	200.00	\$36,000.00
652.451	Automated Trailer Mounted Speed Limit Sign	CD	180.00	75.00	\$13,500.00
652.46	Temporary Portable Rumble Strip	Unit	150.00	150.00	\$22,500.00
659.101	Mobilization	LS	1.00	120000.00	\$120,000.00
Total Bid	\$1,743,900.00				



Bids Received For Contract

Cleaning & Painting Steel Structures -Cider Hill Road Underpass Bridge - Mile 6.2 Captain Thomas Road Underpass Bridge - Mile 14.8 Route 126 Underpass Bridge - Mile 101.7 High Street Underpass Bridge - Mile 103.6

02/15/2018 1:00:00 PM

Abhe & Svoboda, Inc. Prior Lake, MN

Item No.	Item Description	UOM	Quantity	Unit Price	Item Bid Amount
506.141	Field Painting of Existing Structural Steel - Cider Hill Road Underpass	LS	1.00	183799.00	\$183,799.00
506.142	Field Painting of Existing Structural Steel - Captain Thomas Road Underpass	LS	1.00	112809.00	\$112,809.00
506.143	Field Painting of Existing Structural Steel - Route 126 Underpass	LS	1.00	150977.00	\$150,977.00
506.144	Field Painting of Existing Structural Steel - High Street Underpass	LS	1.00	105500.00	\$105,500.00
506.171	Surface Preparation of Existing Structural Steel - Cider Hill Road Underpass	LS	1.00	274505.00	\$274,505.00
506.172	Surface Preparation of Existing Structural Steel - Captain Thomas Road Underpass	LS	1.00	145560.00	\$145,560.00
506.173	Surface Preparation of Existing Structural Steel - Route 126 Underpass	LS	1.00	169320.00	\$169,320.00
506.174	Surface Preparation of Existing Structural Steel - High Street Underpass	LS	1.00	126600.00	\$126,600.00
506.181	Containment System and Pollution Control Measures - Cider Hill Road Underpass	LS	1.00	100000.00	\$100,000.00
506.182	Containment System and Pollution Control Measures - Captain Thomas Road Underpass	LS	1.00	90000.00	\$90,000.00
506.183	Containment System and Pollution Control Measures - Route 126 Underpass	LS	1.00	90000.00	\$90,000.00
506.184	Containment System and Pollution Control Measures - High Street Underpass	LS	1.00	85000.00	\$85,000.00
506.191	Disposal of Special Waste or Hazardous Waste - Cider Hill Road Underpass	LS	1.00	17000.00	\$17,000.00
506.192	Disposal of Special Waste or Hazardous Waste - Captain Thomas Road Underpass	LS	1.00	8500.00	\$8,500.00
506.193	Disposal of Special Waste or Hazardous Waste - Route 126 Underpass	LS	1.00	9800.00	\$9,800.00
506.194	Disposal of Special Waste or Hazardous Waste - High Street Underpass	LS	1.00	6000.00	\$6,000.00
526.306	Temporary Concrete Barrier, Type I - Supplied byAuthority(600 LF)	LS	1.00	25000.00	\$25,000.00
527.341	Work Zone Crash Cushion - TL-3	Unit	4.00	4000.00	\$16,000.00
619.1202	Temporary Mulch	LS	1.00	3000.00	\$3,000.00
629.05	Hand Labor, Straight Time	HR	40.00	45.00	\$1,800.00



Cleaning & Painting Steel Structures -Cider Hill Road Underpass Bridge - Mile 6.2 Captain Thomas Road Underpass Bridge - Mile 14.8 Route 126 Underpass Bridge - Mile 101.7 High Street Underpass Bridge - Mile 103.6

Item No.	Item Description	UOM	Quantity	Unit Price	Item Bid Amount
631.35	Foreman	HR	20.00	75.00	\$1,500.00
652.3611	Traffic Control Devices and Maintenance of Traffic Control Devices - Cider Hill Road Underpass	LS	1.00	12000.00	\$12,000.00
652.3612	Traffic Control Devices and Maintenance of Traffic Control Devices - Captain Thomas Road Underpass	LS	1.00	12000.00	\$12,000.00
652.3613	Traffic Control Devices and Maintenance of Traffic Control Devices - Route 126 Underpass	LS	1.00	12000.00	\$12,000.00
652.3614	Traffic Control Devices and Maintenance of Traffic Control Devices - High Street Underpass	LS	1.00	12000.00	\$12,000.00
652.41	Portable-Changable Message Sign	EA	2.00	5000.00	\$10,000.00
652.45	Truck Mounted Attenuator	CD	180.00	200.00	\$36,000.00
652.451	Automated Trailer Mounted Speed Limit Sign	CD	180.00	75.00	\$13,500.00
652.46	Temporary Portable Rumble Strip	Unit	150.00	150.00	\$22,500.00
659.101	Mobilization	LS	1.00	90000.00	\$90,000.00
Total Bid	\$1,942,670.00				



Bids Received For Contract

Cleaning & Painting Steel Structures -Cider Hill Road Underpass Bridge - Mile 6.2 Captain Thomas Road Underpass Bridge - Mile 14.8 Route 126 Underpass Bridge - Mile 101.7 High Street Underpass Bridge - Mile 103.6

02/15/2018 1:00:00 PM

Monoko, LLC. Tarpon Springs, FL

Item No.	Item Description	UOM	Quantity	Unit Price	Item Bid Amount
506.141	Field Painting of Existing Structural Steel - Cider Hill Road Underpass	LS	1.00	100000.00	\$100,000.00
506.142	Field Painting of Existing Structural Steel - Captain Thomas Road Underpass	LS	1.00	100000.00	\$100,000.00
506.143	Field Painting of Existing Structural Steel - Route 126 Underpass	LS	1.00	100000.00	\$100,000.00
506.144	Field Painting of Existing Structural Steel - High Street Underpass	LS	1.00	100000.00	\$100,000.00
506.171	Surface Preparation of Existing Structural Steel - Cider Hill Road Underpass	LS	1.00	300000.00	\$300,000.00
506.172	Surface Preparation of Existing Structural Steel - Captain Thomas Road Underpass	LS	1.00	260000.00	\$260,000.00
506.173	Surface Preparation of Existing Structural Steel - Route 126 Underpass	LS	1.00	260000.00	\$260,000.00
506.174	Surface Preparation of Existing Structural Steel - High Street Underpass	LS	1.00	210000.00	\$210,000.00
506.181	Containment System and Pollution Control Measures - Cider Hill Road Underpass	LS	1.00	150000.00	\$150,000.00
506.182	Containment System and Pollution Control Measures - Captain Thomas Road Underpass	LS	1.00	150000.00	\$150,000.00
506.183	Containment System and Pollution Control Measures - Route 126 Underpass	LS	1.00	150000.00	\$150,000.00
506.184	Containment System and Pollution Control Measures - High Street Underpass	LS	1.00	150000.00	\$150,000.00
506.191	Disposal of Special Waste or Hazardous Waste - Cider Hill Road Underpass	LS	1.00	2000.00	\$2,000.00
506.192	Disposal of Special Waste or Hazardous Waste - Captain Thomas Road Underpass	LS	1.00	2000.00	\$2,000.00
506.193	Disposal of Special Waste or Hazardous Waste - Route 126 Underpass	LS	1.00	2000.00	\$2,000.00
506.194	Disposal of Special Waste or Hazardous Waste - High Street Underpass	LS	1.00	2000.00	\$2,000.00
526.306	Temporary Concrete Barrier, Type I - Supplied by Authority (600 LF)	LS	1.00	1000.00	\$1,000.00
527.341	Work Zone Crash Cushion - TL-3	Unit	4.00	200.00	\$800.00
619.1202	Temporary Mulch	LS	1.00	1000.00	\$1,000.00
629.05	Hand Labor, Straight Time	HR	40.00	10.00	\$400.00



Cleaning & Painting Steel Structures -Cider Hill Road Underpass Bridge - Mile 6.2 Captain Thomas Road Underpass Bridge - Mile 14.8 Route 126 Underpass Bridge - Mile 101.7 High Street Underpass Bridge - Mile 103.6

Item No.	Item Description	ИОМ	Quantity	Unit Price	Item Bid Amount
631.35	Foreman	HR	20.00	10.00	\$200.00
652.3611	Traffic Control Devices and Maintenance of Traffic Control Devices - Cider Hill Road Underpass	LS	1.00	10000.00	\$10,000.00
652.3612	Traffic Control Devices and Maintenance of Traffic Control Devices - Captain Thomas Road Underpass	LS	1.00	10000.00	\$10,000.00
652.3613	Traffic Control Devices and Maintenance of Traffic Control Devices - Route 126 Underpass	LS	1.00	10000.00	\$10,000.00
652.3614	Traffic Control Devices and Maintenance of Traffic Control Devices - High Street Underpass	LS	1.00	10000.00	\$10,000.00
652.41	Portable-Changable Message Sign	EA	2.00	1000.00	\$2,000.00
652.45	Truck Mounted Attenuator	CD	180.00	200.00	\$36,000.00
652.451	Automated Trailer Mounted Speed Limit Sign	CD	180.00	75.00	\$13,500.00
652.46	Temporary Portable Rumble Strip	Unit	150.00	150.00	\$22,500.00
659.101	Mobilization	LS	1.00	0.00	\$0.00
Total Bid	\$2,155,400.00				



Bids Received For Contract

Cleaning & Painting Steel Structures -Cider Hill Road Underpass Bridge - Mile 6.2 Captain Thomas Road Underpass Bridge - Mile 14.8 Route 126 Underpass Bridge - Mile 101.7 High Street Underpass Bridge - Mile 103.6

02/15/2018 1:00:00 PM

Gemstone, L.L.C. Key West, FL

Item No.	Item Description	UOM	Quantity	Unit Price	Item Bid Amount
506.141	Field Painting of Existing Structural Steel - Cider Hill Road Underpass	LS	1.00	267000.00	\$267,000.00
506.142	Field Painting of Existing Structural Steel - Captain Thomas Road Underpass	LS	1.00	154000.00	\$154,000.00
506.143	Field Painting of Existing Structural Steel - Route 126 Underpass	LS	1.00	185000.00	\$185,000.00
506.144	Field Painting of Existing Structural Steel - High Street Underpass	LS	1.00	115000.00	\$115,000.00
506.171	Surface Preparation of Existing Structural Steel - Cider Hill Road Underpass	LS	1.00	205000.00	\$205,000.00
506.172	Surface Preparation of Existing Structural Steel - Captain Thomas Road Underpass	LS	1.00	119000.00	\$119,000.00
506.173	Surface Preparation of Existing Structural Steel - Route 126 Underpass	LS	1.00	142000.00	\$142,000.00
506.174	Surface Preparation of Existing Structural Steel - High Street Underpass	LS	1.00	89000.00	\$89,000.00
506.181	Containment System and Pollution Control Measures - Cider Hill Road Underpass	LS	1.00	205000.00	\$205,000.00
506.182	Containment System and Pollution Control Measures - Captain Thomas Road Underpass	LS	1.00	119000.00	\$119,000.00
506.183	Containment System and Pollution Control Measures - Route 126 Underpass	LS	1.00	142000.00	\$142,000.00
506.184	Containment System and Pollution Control Measures - High Street Underpass	LS	1.00	89000.00	\$89,000.00
506.191	Disposal of Special Waste or Hazardous Waste - Cider Hill Road Underpass	LS	1.00	7000.00	\$7,000.00
506.192	Disposal of Special Waste or Hazardous Waste - Captain Thomas Road Underpass	LS	1.00	4000.00	\$4,000.00
506.193	Disposal of Special Waste or Hazardous Waste - Route 126 Underpass	LS	1.00	5000.00	\$5,000.00
506.194	Disposal of Special Waste or Hazardous Waste - High Street Underpass	LS	1.00	3000.00	\$3,000.00
526.306	Temporary Concrete Barrier, Type I - Supplied byAuthority(600 LF)	LS	1.00	48000.00	\$48,000.00
527.341	Work Zone Crash Cushion - TL-3	Unit	4.00	10000.00	\$40,000.00
619.1202	Temporary Mulch	LS	1.00	10000.00	\$10,000.00
629.05	Hand Labor, Straight Time	HR	40.00	70.00	\$2,800.00



Cleaning & Painting Steel Structures -Cider Hill Road Underpass Bridge - Mile 6.2 Captain Thomas Road Underpass Bridge - Mile 14.8 Route 126 Underpass Bridge - Mile 101.7 High Street Underpass Bridge - Mile 103.6

Item No.	Item Description	ИОМ	Quantity	Unit Price	Item Bid Amount
631.35	Foreman	HR	20.00	100.00	\$2,000.00
652.3611	Traffic Control Devices and Maintenance of Traffic Control Devices - Cider Hill Road Underpass	LS	1.00	12000.00	\$12,000.00
652.3612	Traffic Control Devices and Maintenance of Traffic Control Devices - Captain Thomas Road Underpass	LS	1.00	12000.00	\$12,000.00
652.3613	Traffic Control Devices and Maintenance of Traffic Control Devices - Route 126 Underpass	LS	1.00	12000.00	\$12,000.00
652.3614	Traffic Control Devices and Maintenance of Traffic Control Devices - High Street Underpass	LS	1.00	12000.00	\$12,000.00
652.41	Portable-Changable Message Sign	EA	2.00	8000.00	\$16,000.00
652.45	Truck Mounted Attenuator	CD	180.00	200.00	\$36,000.00
652.451	Automated Trailer Mounted Speed Limit Sign	CD	180.00	75.00	\$13,500.00
652.46	Temporary Portable Rumble Strip	Unit	150.00	150.00	\$22,500.00
659.101	Mobilization	LS	1.00	80000.00	\$80,000.00
Total Bid					\$2,168,800.00



Bids Received For Contract

Cleaning & Painting Steel Structures -Cider Hill Road Underpass Bridge - Mile 6.2 Captain Thomas Road Underpass Bridge - Mile 14.8 Route 126 Underpass Bridge - Mile 101.7 High Street Underpass Bridge - Mile 103.6

02/15/2018 1:00:00 PM

Amstar of Western NY Inc Cheektowaga, NY

Item No.	Item Description	UOM	Quantity	Unit Price	Item Bid Amount
506.141	Field Painting of Existing Structural Steel - Cider Hill Road Underpass	LS	1.00	63000.00	\$63,000.00
506.142	Field Painting of Existing Structural Steel - Captain Thomas Road Underpass	LS	1.00	32000.00	\$32,000.00
506.143	Field Painting of Existing Structural Steel - Route 126 Underpass	LS	1.00	37000.00	\$37,000.00
506.144	Field Painting of Existing Structural Steel - High Street Underpass	LS	1.00	22000.00	\$22,000.00
506.171	Surface Preparation of Existing Structural Steel - Cider Hill Road Underpass	LS	1.00	592595.00	\$592,595.00
506.172	Surface Preparation of Existing Structural Steel - Captain Thomas Road Underpass	LS	1.00	280601.00	\$280,601.00
506.173	Surface Preparation of Existing Structural Steel - Route 126 Underpass	LS	1.00	318051.00	\$318,051.00
506.174	Surface Preparation of Existing Structural Steel - High Street Underpass	LS	1.00	222853.00	\$222,853.00
506.181	Containment System and Pollution Control Measures - Cider Hill Road Underpass	LS	1.00	126000.00	\$126,000.00
506.182	Containment System and Pollution Control Measures - Captain Thomas Road Underpass	LS	1.00	64000.00	\$64,000.00
506.183	Containment System and Pollution Control Measures - Route 126 Underpass	LS	1.00	74000.00	\$74,000.00
506.184	Containment System and Pollution Control Measures - High Street Underpass	LS	1.00	54000.00	\$54,000.00
506.191	Disposal of Special Waste or Hazardous Waste - Cider Hill Road Underpass	LS	1.00	1000.00	\$1,000.00
506.192	Disposal of Special Waste or Hazardous Waste - Captain Thomas Road Underpass	LS	1.00	1000.00	\$1,000.00
506.193	Disposal of Special Waste or Hazardous Waste - Route 126 Underpass	LS	1.00	1000.00	\$1,000.00
506.194	Disposal of Special Waste or Hazardous Waste - High Street Underpass	LS	1.00	1000.00	\$1,000.00
526.306	Temporary Concrete Barrier, Type I - Supplied by Authority (600 LF)	LS	1.00	24000.00	\$24,000.00
527.341	Work Zone Crash Cushion - TL-3	Unit	4.00	1000.00	\$4,000.00
619.1202	Temporary Mulch	LS	1.00	3000.00	\$3,000.00
629.05	Hand Labor, Straight Time	HR	40.00	80.00	\$3,200.00



Cleaning & Painting Steel Structures -Cider Hill Road Underpass Bridge - Mile 6.2 Captain Thomas Road Underpass Bridge - Mile 14.8 Route 126 Underpass Bridge - Mile 101.7 High Street Underpass Bridge - Mile 103.6

Item No.	Item Description	UOM	Quantity	Unit Price	Item Bid Amount
631.35	Foreman	HR	20.00	85.00	\$1,700.00
652.3611	Traffic Control Devices and Maintenance of Traffic Control Devices - Cider Hill Road Underpass	LS	1.00	52500.00	\$52,500.00
652.3612	Traffic Control Devices and Maintenance of Traffic Control Devices - Captain Thomas Road Underpass	LS	1.00	52500.00	\$52,500.00
652.3613	Traffic Control Devices and Maintenance of Traffic Control Devices - Route 126 Underpass	LS	1.00	52500.00	\$52,500.00
652.3614	Traffic Control Devices and Maintenance of Traffic Control Devices - High Street Underpass	LS	1.00	52500.00	\$52,500.00
652.41	Portable-Changable Message Sign	EA	2.00	2500.00	\$5,000.00
652.45	Truck Mounted Attenuator	CD	180.00	200.00	\$36,000.00
652.451	Automated Trailer Mounted Speed Limit Sign	CD	180.00	75.00	\$13,500.00
652.46	Temporary Portable Rumble Strip	Unit	150.00	150.00	\$22,500.00
659.101	Mobilization	LS	1.00	72000.00	\$72,000.00
Total Bid					\$2,285,000.00



Bids Received For Contract

Cleaning & Painting Steel Structures -Cider Hill Road Underpass Bridge - Mile 6.2 Captain Thomas Road Underpass Bridge - Mile 14.8 Route 126 Underpass Bridge - Mile 101.7 High Street Underpass Bridge - Mile 103.6

02/15/2018 1:00:00 PM

PCI International Inc. Tonawanda, NY

Item No.	Item Description	UOM	Quantity	Unit Price	Item Bid Amount
506.141	Field Painting of Existing Structural Steel - Cider Hill Road Underpass	LS	1.00	352800.00	\$352,800.00
506.142	Field Painting of Existing Structural Steel - Captain Thomas Road Underpass	LS	1.00	157900.00	\$157,900.00
506.143	Field Painting of Existing Structural Steel - Route 126 Underpass	LS	1.00	175500.00	\$175,500.00
506.144	Field Painting of Existing Structural Steel - High Street Underpass	LS	1.00	105000.00	\$105,000.00
506.171	Surface Preparation of Existing Structural Steel - Cider Hill Road Underpass	LS	1.00	779700.00	\$779,700.00
506.172	Surface Preparation of Existing Structural Steel - Captain Thomas Road Underpass	LS	1.00	308600.00	\$308,600.00
506.173	Surface Preparation of Existing Structural Steel - Route 126 Underpass	LS	1.00	366000.00	\$366,000.00
506.174	Surface Preparation of Existing Structural Steel - High Street Underpass	LS	1.00	201500.00	\$201,500.00
506.181	Containment System and Pollution Control Measures - Cider Hill Road Underpass	LS	1.00	6500.00	\$6,500.00
506.182	Containment System and Pollution Control Measures - Captain Thomas Road Underpass	LS	1.00	4500.00	\$4,500.00
506.183	Containment System and Pollution Control Measures - Route 126 Underpass	LS	1.00	5000.00	\$5,000.00
506.184	Containment System and Pollution Control Measures - High Street Underpass	LS	1.00	4000.00	\$4,000.00
506.191	Disposal of Special Waste or Hazardous Waste - Cider Hill Road Underpass	LS	1.00	5000.00	\$5,000.00
506.192	Disposal of Special Waste or Hazardous Waste - Captain Thomas Road Underpass	LS	1.00	5000.00	\$5,000.00
506.193	Disposal of Special Waste or Hazardous Waste - Route 126 Underpass	LS	1.00	5000.00	\$5,000.00
506.194	Disposal of Special Waste or Hazardous Waste - High Street Underpass	LS	1.00	5000.00	\$5,000.00
526.306	Temporary Concrete Barrier, Type I - Supplied byAuthority(600 LF)	LS	1.00	1000.00	\$1,000.00
527.341	Work Zone Crash Cushion - TL-3	Unit	4.00	500.00	\$2,000.00
619.1202	Temporary Mulch	LS	1.00	500.00	\$500.00
629.05	Hand Labor, Straight Time	HR	40.00	40.00	\$1,600.00



Cleaning & Painting Steel Structures -Cider Hill Road Underpass Bridge - Mile 6.2 Captain Thomas Road Underpass Bridge - Mile 14.8 Route 126 Underpass Bridge - Mile 101.7 High Street Underpass Bridge - Mile 103.6

Item No.	Item Description	UOM	Quantity	Unit Price	Item Bid Amount
631.35	Foreman	HR	20.00	45.00	\$900.00
652.3611	Traffic Control Devices and Maintenance of Traffic Control Devices - Cider Hill Road Underpass	LS	1.00	1000.00	\$1,000.00
652.3612	Traffic Control Devices and Maintenance of Traffic Control Devices - Captain Thomas Road Underpass	LS	1.00	1000.00	\$1,000.00
652.3613	Traffic Control Devices and Maintenance of Traffic Control Devices - Route 126 Underpass	LS	1.00	1000.00	\$1,000.00
652.3614	Traffic Control Devices and Maintenance of Traffic Control Devices - High Street Underpass	LS	1.00	1000.00	\$1,000.00
652.41	Portable-Changable Message Sign	EA	2.00	500.00	\$1,000.00
652.45	Truck Mounted Attenuator	CD	180.00	200.00	\$36,000.00
652.451	Automated Trailer Mounted Speed Limit Sign	CD	180.00	75.00	\$13,500.00
652.46	Temporary Portable Rumble Strip	Unit	150.00	150.00	\$22,500.00
659.101	Mobilization	LS	1.00	220000.00	\$220,000.00
Total Bid					\$2,790,000.00